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Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

1. S1: Improvement of the quality of
education has always been the key concern
for education.

S6: Not in terms of the number of years of
schooling but the quality aspect of the
development of the individual.

P: Quality of education should not be
considered in fragmented terms but in a
more holistic and expanded manner.

Q: It has become synonymous with
employability, preparation for the word of
work, less and less consideration is given
to the subject of education.

R: In recent times, quality education has
been defined in more pragmatic terms.

S: That is an individual student and his/her
full development as a human being.

A. RQPS

B. SRQP

C. PQRS

D. RQSP

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

2. S1: Every government faces challenges
and there are some more prominent than
others.

S6: So we are in a way on the cusp of
decision-making about providing
meaningful and sustainable jobs to millions
of India’s youth over the next many years.
P: The inevitable realities of artificial
intelligence, digitalization, and automation
will keep the productivity clock ticking.
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Q: In the face of declining agriculture
opportunities, tough industrial competition,
rising protectionism, and reshoring.

R: Job creation is perhaps the most
prominent of them all.

S: The trade-off is that some of these
technologies will replace some mental
tasks, some physical ones and some that
are both.

A. PQRS

B. PRQS

C. RQPS

D. RQSP

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark your response
accordingly.

3. S1: Aristotle first projected that dreams
are nothing but magnified image to our
small projected stimulus arising during
sleep.

S6: The primary feature of this incubation
technique was that the sick person would
have therapeutic dreams while he/she is
sleeping.

P: Greek, in addition to these thoughts,
welcomed and was involved in the process
of incubation which they claimed as the
therapeutic method.

Q: He further drew a conclusion that dream
may counter the physician that the ignition
of some bodily changes which has not been
observed in waking.

R: The Greeks defined incubation as a way
of encouraging and uplifting healing
dreams sent by a god or saviours,
especially by Asclepius, a divine physician
of that era.

S: He wrote that Men think that they are
not certain walking through fire and are
vigorously heated up when a small heat is
produced about certain parts.

A. SQPR
B. SPRQ
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C. PQRS
D. RQSP

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

4. S1: Six friends work nights at a call
center in India, providing technical support
for a major U.S. appliance corporation.

S6: Then one call, from one very special
caller, changes everything.

P: But tonight is no ordinary night. Tonight
is Thanksgiving in America: Appliances are
going haywire, and the phones are ringing
off their hooks.

Q: They all try to make it through their
shifts—and maintain their sanity—-under the
eagle eye of a boss whose ego rivals his
incompetence.

R: Yet behind the headsets, everybody’s
heart is on the line.

S: Skilled in patience-and accent
management-they help American
consumers keep their lives running.

A. PQRS

B. SRQP

C. RSQP

D. QPRS

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

5. S1: Brain drain is the migration of skilled
human resources for trade, education, etc.
S6: These countries have invested in the
education and training of young health
professionals.
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P: Trained health professionals are needed
in every part of the world.

Q: This is of growing concern worldwide
because of its impact on the health systems
in developing countries.

R: However, better standards of living and
quality of life, higher salaries, access to
advanced technology and more stable
political conditions in the developed
countries attract talent from less developed
areas.

S: The majority of migration is from
developing to developed countries.

A. PQRS

B. SRQP

C. PRSQ

D. QPRS

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark your response
accordingly.

6. S1: Once there lived a poor woodcutter.
He used to cut trees in the woods. One day
he was cutting wood on the bank of a river.
S6: Then he brought an iron axe. The
woodcutter took it gladly. Mercury was
much pleased. He rewarded the woodcutter
with the other two axes.

P: His axe fell down into the river. The river
was deep. He could not take his axe out.
He sat on the bank and began to weep.

Q: Mercury, the god of water appeared. He
asked the reason of his weeping.

R: The woodcutter told the whole story.
Mercury dived into the water and brought a
golden axe.

S: The woodcutter refused to take it.
Mercury again dived and brought a silver
axe. The woodcutter did not take it either.
A. PQRS

B. SRQP

C. PRSQ

D. QPRS
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Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

7. S1: I turn the page; it's not the page of
a book

S6: I know I'm repeating myself. That
might be because I've already begun
metaphorizing them.

P: The pages, therefore, are not light.

Q: Unlike the pages of a book, they are
black in colour---greyish black, as if all the
light has been eaten by the photos, leaving
them bereft of light.

R: These pages are heavy, thicker than
chart paper. They are the pages of my
parents’ old photo album.

S: Those are light and easy to turn, easy
enough for even a breeze to move.

A. PQRS

B. SRQP

C. PRSQ

D. QPRS

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark vyour response
accordingly.

8. S1: Hoppers has been jammed from the
day it opened two years ago, serving a rare
find in central London.

S6: It will be larger and more comfortable,
with a more relaxed vibe.

P: Hoppers is opening up a second site that
can seat as many as 85 across two floors—
plus another 16 outside, well over double
the 40 seats of the original outlet.

Q: They will soon have a little more
breathing room.
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R: The second outlet, scheduled to open in
St. Christopher’s Place in Marylebone in
early September, will accept reservations—
a relief to many who have waited for hours
at the restaurants.

S: Diners would wait for up to three hours
for a table.

A. PQRS

B. QSRP

C. PRQS

D. SQPR

Direction: In the given question six
sentences of a passage are a given. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences in each have been jumbled up
and labelled P, Q, R and S. You are required
to find the proper sequence of the four
sentences and mark your response
accordingly.

9. S1: My friend, Ranjan Bhattacharya, 52,
retired from the Navy about a year ago,
after serving in submarines, arguably one
of the world's most isolated jobs.

S6: Like other 60-plus people, he keeps a
lot of money in the bank in case of medical
emergencies.

P: In this time, he's acquired a large
portfolio of small, obscure stocks.

Q: Post retirement, he's made up for lost
time by turning into a news junkie.

R: Another friend, Abhijit Banerjee, 61, is
worried if the government is really going to
seize his fixed deposits and convert them
forcibly into bank shares.

S: Watching the TV market shows, he
follows recommendations and buys.

A. QRPS

B. QPSR

C. PSQR

D. RSQP

Direction: In this section each item
consists of six sentences of a passage. The
first and sixth sentences are given in the
beginning as S1 and S6. The middle four
sentences each are jumbled up and labelled
P, Q, R and S. You are required to find the
proper sequence of the four sentences and
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mark your response accordingly on the
answer sheet.

10.

S1: The importance of ethics cannot be
undermined.

S6: This would make things chaotic and
give rise to crime.

P: Taking decisions becomes easier for
people as the right and wrong has already
been defined.

Q: This system has basically been put in
place so that people know how to act right
and maintain peace and harmony in
society.

R: Imagine if the right doings and
wrongdoings were not defined, everyone
would act as per their will based on their
own versions of right and wrong.

S: A child needs to be taught what
behaviour is accepted in the society and
what is not from the very beginning in
order for him to live in harmony with
society.

A. RPSQ

B. SQPR

C. PQRS

D. QPSR

11. 4624 =T JeTHT fohceTr §:

A. 68
B. 66
C.72
D. 64

12. afE N = (12345)2 + 12345 + 12346, &,

ar VN & &1 F31 87

A. 12346
B. 12345
C. 12344
D. 12347

13. & ¢ellcAs TEITT HI AT 14 § JAT 3o1h
T & FEY AT 3R 56 § | 37k JIT T 9T 47
g?
A. 106

B. 196
C. 53
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D. 68

14.f8T 31T Totes & HfAH & 37 AT HL?
(654321) 3527

A. 61

B. 71

C. 51

D. 41

15. U IR-Y+T HEIT AR 38 GohAEUI &
S [T T AT 9 ® | Al 98 HET T 87

A. -5

B. 3

C.-3
D.5

16. T FFAOIT Farfa &1 ggarr 3R 3Rl ue
23 3 -42 § | I g@en # 14 ug §, & A@er
FIT gT?

A. 91

B. -133

C.93
D. 133

17. Tsh €& 3R 38 Goshd & 4 0N & JT

5¢ | 98 T&IT &7 g Tohll 67
A 4

COow
N ou

4
18.%@@?@@@@; A T[T e & fow

. 4
el 1T, T 30 Fear z a fanfoa ¢

fear 3R 35 aRonH, g gRome & 9 3w
37T, TEAT & 3{ehT T AT FAT 872

oow»
N DO

(914924924 +110)y o

19.
A. 4020
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B. 2010
C. 6030
D. 8040

20. 50 31X 150 & I forder &0 7 ¥ AT
&2

A. 15

B. 16

C. 17
D. 14

21, fAFafaf@da g & afe T wa IRy @ ar
&1 91 9w faehed IThfadl # SiaT-# 3R 3mpia
ReT TN & Tcehlel dTe 37T AMT?

E. Ko &

22,50 RU T Y% yeaT A @ g 3R Ry &
¥ Th IUPFI SA § S 9 § g A AR
3TogehT0T ToRET aTT &, 3R 3efehal STRY @I 1T &1
ar

5 el e P

Nia:
7
IE
=
i
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23. fAFafaf@a da & afe Tgr v IRy @ ar
&r 18 uie feheq Jrepfarat 7 iler-# 3% i
9ReT JThTAt & dcshiel dTe; el AMBT?

C C

(=] =}

[=]
o]

<
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24, fAFafaf@d g & afe T v IRy @ ar
& 1§ 9T fashod JMMepTaral 7 Sl TR JTepfcy
URET TSIl & Tchlel dlg 3TeT Mg T?

oot 3Mpia

= H|HiP || ?
Hi

i<

i
Hir<

25.farafar@d ueat & Ffe @er A STy TeT v &y
IS g fdehod 3Mepicrdl # HieA-AT 3o 3MThicT
ReT 3TN & Teehlel 16 37Tl AMET?

Ll TIvee

e

D.

1(1(S

m| &

g

1Y)

1
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26. U 3esha o aran B, s @ ueh ue ofed
gl Row oTv fRwedt & ag w8 Rwew gfav, s
ST F R |

= =i 5: =|s
L] x oA ®
[ x Wl x =
A S
»
A . e =
S A
x
B.I.=
S A
*
C "= 0
S A
-
D.ix ® =

27. EATATEd 9ot # afe @ér v SIRY @ A
& 1S 9T fasheq JMepferdl # Hlea-af 3T 3pid
9ReT JMTRAT & dchrel dle 37T 1fgu?

13407|34071|71534|15347|479215

79156

54791

79154

97154

15847

E.

28.fT 91T fashedl & & 30Tl THId HT TIT FX|
T 3MHia :-
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1 2
JoaT AT :-
5 X s € s X s 0
Oc #+0 X<4|O0 c olx ¢ O
(a) (b) (<) (d)
A. (a)
B. (b)

C. (c)
D. (d)

Alo=|xaAa]lc o

A
0 =X|x Aclec o sls xno

29.FfRf@a wea d I e sa s wrardr
IS e faeheq 3Mepicrdl # HleA-H 3 3Mhfa
SIR&T TRl & Tcshlel dlg 3TeT Mg T?
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A.

30.AFATATRT S[@ell # 33 3771 aTelT 3MTehicY T
ERC Ry
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D.

31. fRHeY 2018 #H, HF & T e T AR I

ATHS a9 AR 3UIUE edRaT sl
eI H ST 7T
A. ST -6
B. ST -19
C. s -11
D. ST -17

32. MIRV T Ul &

A. Multi-directional
Reoriented Vehicle

B. Multipurpose
Revolutionary Vehicle
C. Multiple Independently-target Reentry
Vehicle

D. Multiple Independent Reentry Vehicle

Independently

Integrally-targeted

33. 3T eaTss @ INfasHR fhaer fhar ar?
A. TSTad gras T

B. SiTeT STe}

C. vsfast fous sfsar

D. e shofel

34. 39 7S dehelieh I T FEd 8, Sl Ueh HiAHA
ST & Tt T &THCT Felel Tl & RSHH oftar
RER 31T Forar off Feer oot 82

A. EIEY arEdidendr

B. 3T arEdfashar

C. d%feqs arEdfdedr

D. 3-3Y aredidehdr
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A. Y fara

B. ST STt & {AGTOT

C. T gorrely

D. 37afler WA & fow Aasa soe

36. IR # &6 YIRIYUT aa aTel Ugol safad
HiT A?
A. 3. @.%.% 3RR

B. sT. 31}, afoarae
C. . quIITTe
D. 3. 3R. $AdeT AR

37. 35 IUT TAEITT &l 7S¢ T St § FATTh
sEd __ giarg|

A. 30T

B. el AAINFATSS

C. GorgRs Tias

D. algge

o
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3. W @R & v @
Tttt & Aol RERR @ FEATfad fomar o)
A. W1ET AR SgId S ETu=AT TR e

B. UREATY] Sl EI=AT

C. Yzarufdar

D. 3WIFd T

39. UEHT U HRT & Ygell AT Tgaa-1,
& o forar I an)

A. Sdrere

B. Hhargear

C. Hrhrepere

D. #gRerer

40. 9Rag Acash JOTell H TS T a1 7T
g?
A. FelllisT dTepfceh g
B. aTfoifSaes wihfaes
C. HNTST Urehfcreh 3
D. gufaa grfas e
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## #ANSWERS# # #

1. Ans. D.

The opening statement talks about the
improvement of the quality of education as
a key concern. The next statement would
be talking about the pragmatic definition of
quality education in R. The next statement
would be continuing talking about the
synonymous nature of education with
employability and other factors in Q. The
next statement would be talking about the
complete development of an individual as a
human being in S and then it talks about
the holistic and expanded form of quality of
education in P which very well connects
with the closing statement. Thus, the
correct sequence is RQSP.

2. Ans. C.

The passage about knowledge and job
creation. The opening statement talks
about the challenges faced by the
government. It is followed by statement R.
This is because it talks about the most
prominent challenges among all. So, Q
follows R as it further elaborates the about
the various factors affecting job creation
like declining agriculture opportunities,
tough  industrial competition, rising
protectionism, and reshoring. The next
statement would be talking about the
realities of artificial intelligence,
digitalization, and automation in P. And the
concluding statement would be talking
about the technology that would be
replacing some of the mental and physical
tasks in S which logically connects with the
closing statement forming a coherent
paragraph. Thus, the correct sequence is
RQPS.

3. Ans. A.

The passage about the historical
perspective of dreaming. The opening
statement talks about the Aristotle views of
dreaming. It would be followed by S. The
continuing statement would describe how
the heat is produced in certain parts
according to Aristotle. It is followed by Q as
it talked about the conclusion that dream
may counter the physician. The next

sentence would be P as it talks about the
Greek’s process of incubation. Then the
next statement R defines incubation as a
way of encouraging and uplifting healing
dreams sent by a god or saviours and thus
connects logically with the concluding
statement. Thus, the correct sequence is
SQPR.

4. Ans. B.

The passage talks about the night at a call
center. The opening statement talks about
six friends working at a call center and their
job. The next statement in continuation
would be talking about the way they are
helping American consumers in statement
S. The following statement would be talking
about the feelings of everyone behind the
headsets in statement R. And this was the
reason why they all try to make their shifts
under the eye of the boss in statement Q.
The next statement i.e. P will be talking
about the not an ordinary night but a
Thanksgiving night which gets connected
with the closing statement to form a
coherent paragraph. Thus, the correct
sequence is SRQP.

5. Ans. C.

The opening statement talks about 'Brain
drain’. The next statement in continuation
will be talking about the reason of brain
drain i.e. statement P. The following
statement would be talking about the
attributes that attract talent to developed
countries i.e. statement R. The next
statement mentions the countries from
where brain drain takes place that is from
developing to developed countries in
statement S and it followed with the growth
of worldwide concern in Q which connects
with the closing statement i.e. how he saw
himself. Thus, the correct sequence is
PRSQ.

6. Ans. A.

The opening statement talks about the
poor woodcutter and his job. Thus, the
statement in continuation will be talking
about how his axe falls down while cutting
wood in P. The next statement talks about
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the appearance of the god of water,
Mercury in statement Q. R will be the next
statement as it talks about the way the
woodcutter narrates the whole story to
God. And the continuing statement would
be talking about the honesty of the
woodcutter in statement S which connects
well with the given closing statement thus
forming a coherent paragraph. Thus, the
correct sequence is PQRS.

7. Ans. B.

The opening statement talks about turning
the page of something that is not a book.
The connecting statement S would be
describing the nature of the page which is
light and easy to turn. Next statement
compares the page with a chart paper and
mentions that it is a photo album in R. The
next statement talks about the colors of the
album. The last statement i.e. P describes
the pages not being the light which connect
well with the given closing statement thus
forming a coherent paragraph. Thus, the
correct sequence is SRQP.

8. Ans. D.

The passage talks about a restaurant
‘hoppers’, opening its second branch. The
first sentence talks about the restaurant
itself. This should be followed by sentence
S which describes how long diners would
have to wait for a table which in turn is
followed by statement Q which signifies
some development. Moreover, the word
'They' used at the beginning of the
sentence reflects that it has been used for
the 'diners' who have faced the problem of
waiting so long in the queues. This is
followed by statement P which reveals what
the new development is all about and a
solution to the problem. This is followed by
statement R which describes what is new at
the second outlet and aptly connects the
last line to the paragraph, as it adds on the
details about the second outlet. Thus, the
correct sequence is SQPR.

9. Ans. B.

The passage is about author’s two friends
and their post retirement money
management plans.

4
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S1 mentions Ranjan Bhattacharya as
retired, followed by what he did post
retirement in Q. The context then mentions
how he made up for lost time continued in
P mentioning that he is dealing in stocks
and acquiring information from TV in S.
This is then followed by R mentioning
another friend Abhijit Banerjee who have
fixed deposits and keeps a lot of money in
the bank in case of medical emergencies,
thus R and S6 form a pair.

Hence, the correct sequence is QPSR.

10. Ans. B.

The sentence P introduces the concept of
right and wrong in the passage. Sentence
R continues to discuss this concept by
talking about right and wrong doings. So, it
is sentence R which must follow sentence
P. Option B gives a sequence which
contains this. Therefore B is the correct
answer.

11. Ans. A.

4624 FT IHA 68 B

g 9 i fased faeiusT fafr @ e |,
P H&AT & 991 H SHS & TAHT G 4 AT ¢
3R TETT & g & 3 dhaer 2 3R 8 ¥, a:
fhed B 3R D 3cdX 8T & Tohd ¢, F4T foh 3oToh
SHTS & 31 2 T 8 &

IR EH 72 M@ F 70 @ aer &, & 70
&7 G391 4900 BI| 72 T T 4900 A 3T g9
§H &g Thd & [ 72, 4624 &1 IIAT & &
TohdT &

37d: shad [Fed A A § A1 T TE 3ca &l

12. Ans. A.

N = (12345)2 + 12345 + 12346
12345(12345 + 1) + 12346
12346(12345 + 1)
(12346)(12346)

VN = 12346 .

13. Ans. A.

X+y=4. (1)
xZ2—y* =56 ........(i0)
To find :- x? +j|é'2

JI’.'Z _:FZ =56
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(x—y)(x+y) =56
= 14(x—y) = 56
=x—y =4 .....(iii)
By adding egn. (i) & (ii)
2x=18=x=9

.'.j,? = 5

~x%+y* =97 +5?
=81+ 25 = 106.
14. Ans. D.

Since the base is ending with 1 so last digit
will always be 1 and second last digit is unit
digit of multiplication of second last digit of
base to the last digit of power.

= (654321)%%7 5 7x2\1 = 41.

15. Ans. D.
Let the number be x
20
X+—=9
Then X
X2-9x+20=0

X? -5x-4x+20=0

Hence x=4 or 5

So required answer is 5.
16. Ans. B.

e g & &, afe 14 $r Aohr & a ggar ug § 3R
| 3ifqe 95 §,

IeT = n/2[a + 1]

= (14/2) [23 - 42]

= 7[-19]

=-133

17. Ans. A.

Let JL;Lbe the number. Then,
RO
x*—bx+4=0
(x—4)(x—1)=0
x=1lorx=4%

18. Ans. D.

Let x be the number
According to question

X 4 o
4 xx5_
5

ol
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5 4
xx 4-xx % =9
Qx
20 =9

20

A X =9 X% 9 = 20
19. Ans. B.
First term of series= 91
Last term=110
Difference between the term=1
Number of term= 110-91+1=20
Sum of terms=

(a+1)==(91+ 110) = 2010

20. Ans. D.

50 3iX 150 & g ggel TEAT 1T 7 @ faosa &
= 56

3R 50 dur 150 & i 7 ¥ Fwfaa g arer
3N T&ar = 147

I Teh GATA Aol &1 AT H3l, Sigi a = 56,
| =147 andd =7

3d: GHATAER Ao 1 HAfAA 9g, | = a + (n - 1)d
=147 =56 + (n - 1)7

=>n-1=13
=n = 14 9¢
21. Ans. B.
The changes from 1st to 2nd figure will be,
1 2 8 1
- 3 r— 2 5
5 3

The changes from 3rd to 4th figure will

r—

1%

2

3

Similarly, The changes from 5th to 6th will

be,
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=,

Hence, option B is the correct response.
22. Ans. E.

From problem figure (1) to (2) one design
rotates through 45° clockwise while the
other designs rotate through 180°. Similar
changes occur from problem figure (3) to
(4) and from problem figure (5) to answer
figure.

23. Ans. D.

Each figure has three symbols in the first
two figure; C, square and a are used.
Square moves from one corner to next
corner in clockwise direction. — turns with
45° anticlockwise between first and second
figure, then 90° between second and third
then 135° between third to fourth then
again 180° between fourth to fifth figure
and so on..... C converts in to oval then in
a square. (Cis usein 15t and 2" figure, oval
is used in 3™ and 4% figure similarly square
will be used in 5% and answer figure.)
These symbols move in anticlockwise. After
these assumptions the correct answer
figure will be (1).

24. Ans. D.

In every next figure the right side arrow
appears in opposite directions. In left side
first a long line appears and next times
another a small line appears with this line.

In middle design, the element T appears
new every time.

> i< [P

ol

gradeup

|
|

(=

Hence, option A is correct.

26. Ans. B.

The number of elements in box 1 and 2 is
the same and the elements are
interchanged with themselves. Also, they
are shifting one place in a clockwise
direction.

Similarly, for box 3 and 4, the number of
elements are the same and the elements
are interchanged with themselves. Also,
they are shifting one place in a clockwise
direction.
S A

x

Hence, option B is the correct answer.
27. Ans. C.

TEell 3R gEdl 3T o & 1 gRace 3 3R 4
IHTT & @ & IRadT & FAT g1 Teeld H

UIRY 39 YK g

12345C—>[23451

I 2A3F AT R TGAT, 4 5 F ad b
JCold & TAA §, 30 39 YR giotd fomar
HehdT &

12345C—>45N12

25. Ans. A.
First one circle and then one slant line is
disappearing in alternate steps.

ar T IREd TehicR §9 & gfed 81d §, 30 TR
5 3R 38 3ca 3l & I &1 HA, Il
3R gadr mpfa & = & AT F FA g
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12345 C—>(23451
3
47915|C—"=>|79154
28. Ans. C.

The elements are moving in the below
sequence and also, the symbol that
reached at the white circle position gets
replaced by a new element.

AR
-

The next figure will be -

S X

O c O

Hence, option (C) is the correct response.
29. Ans. D.

In the subsequent figure respectively 4, 5,
6, 7, 8 line segment is added to complete
the square. So, following the same pattern
the next figure in the series will be;

0 g “al oo
g |0

C
C
C

Hence, option (D) is the correct response.
30. Ans. D.

4

gradeup

Logic: Figure 2 is the mirror image of figure
1, Figure 4 is the mirror image of figure 3
and Figure 6 is the mirror image of figure
5.

So, after carefully observing the figures
given in the question, it is very clear that
the answer figure (D) will be the next
figure.

Hence, the correct answer is option (D).
31. Ans. C.

* In December 2018, India's heaviest
satellite called GSAT 11 was sent into
orbit by a French rocket.

* It was launched from Ariane-5 rocket of
Arianespace from French Guiana.

* Weighing about 5,854 kg, GSAT-11
would play a vital role in providing
broadband services across the country, and
also provide a platform to demonstrate new
generation applications.

* The satellite would be initially placed in
the Geosynchronous Transfer Orbit and
subsequently be raised to Geostationary
Orbit by firing the Liquid Apogee Motor on-
board the satellite.

32. Ans. D.

g T IoYaer el (Multiple Independent
Reentry Vehicle (MIRV)) T& Soiffes Aasa
Y e oA A WATY] Jetreh FHA o STl arell
Teh aigel &1 9% MIRV & AR 81 A &
HET Yoliea TROT & &g gt & a6 FIaT &7 &
&Y I IRATY] GRITRT Y 31elaT & TR Y &1

gl 81

33. Ans. B.

John Barber invented the gas turbine.A gas
turbine is a of internal combustion engine.
It has an upstream rotating compressor
coupled to a downstream turbine, and a
combustor. A patent was given to John
Barber, an Englishman, for the first true
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gas turbine. The turbine was designed to
power a horseless carriage.
34. Ans. B.

o U¥a RAfA& (d1aR) Virtual Reality
(VR) To& sAfda AdEar ar segel-
fogeies Shast & w9 7 Fefdta frar s
HhdT &, Teh UH TTATaROT I wAehel Il
¢ St aredfaeh gietar a1 seqe @1 giaar
# Ty & Hifaes YRl 1 3regehtor
T & AR 3G w37 gl &
ST T &aT &1

® 3T AREAIehdT A T & TGS HeTa
FeTchr &, Tor e gfSe, saoT, T, e 3%
Tare, enfAe & aohd g

35. Ans. D.
o SIUH.TA.dl. (- THled 3uaig F&aor

qTgeT) AR 3ARET HTHUT HITSH
(ZER) CaRT FaTford Teh T&19uT Q19 g
JuTTelr &1

o 3T [T HRA FI 3YA SATS-YHR F
3997 HI AU Fell # dled el

& foT @eTH S g fomam aram |

36. Ans. C.

On August 3, the centre's head, Dr P.
Venugopal, led a team of doctors in
carrying out India's first heart transplant.
37. Ans. C.

oWl 3E3iTFarss 3R A Fass aer
aTel & AU TRAT ek FewrgRen 3iFeT &l HaAT0T
A &1 3FAT g Sigt P & #7er 3K Ster A
HEChel Il 8, il l 7Tse el &

38. Ans. A.

* e TIR T 373Gl didihfAee o ST T
far=1TeT & foIT el WERR & &F R Urecehal |
* 37¢ ggfaer 3] @ WEe & fuor & v
1958 # 58 qEHR H FeATIId fohaT 12T 27|

* 3gieY s feere TRl 3 3TUR 31Tl & foeRoT
F foT 1980 #H diet 997 3R areex Aeac & @Y
QERR A1 R

4
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39. Ans. D.

* India’s First mission to the moon,
Chandrayaan-1 was launched from
Satish Dhawan Space Centre,
Sriharikota.

* It was launched by the Indian Space
Research Organisation in October 2008,
and operated until August 2009.

* The PSLV-C11 rocket, an upgraded
version of the Indian Space Research
Organisation’s (ISRO) Polar Satellite
Launch Vehicle, lifted it and injected the
spacecraft into a highly elongated orbit
around Earth. This marked the beginning of
Chandrayaan-1's journey to the Moon.

* On 2 July 2016, NASA used ground-based
radar systems to relocate Chandrayaan-1
in its lunar orbit, more than seven years
after it shut down.

40. Ans. C.

AT, IS Trehfaeh I T JefRid S &
wTepich I AT 9 @ A giel § 3R S oAt
EART 3791 BT # FIAT Fallat 3R FSAT gred et
o ToIT 9T foharm SiTelr &1 9ol 3R SioTer 1 oE
I TUeh SIAnRA gl
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